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QUESTION 1

The swap file must always be stored with the other virtual machine files.
A. True

B. False

Correct Answer: B

QUESTION 2

Storage DRS is enabled by default.
A. True

B. False

Correct Answer: B

QUESTION 3

A logical design can contain which of the following? (Choose three)
A. BIOS settings

B. Data flow

C. Key component relationships

D. High-level diagrams

E. Server host names

Correct Answer: BCD

QUESTION 4

A functional requirement

A. should be a part of the design

B. is important only when you\\'re putting together the logical design
C. must be accounted for in the design

D. is not important

Correct Answer: C
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QUESTION 5

Active discovery methods require agents.
A. True

B. False

Correct Answer: A

QUESTION 6

The RTO and RPO objectives can be achieved using VMware HA.
A. True

B. False

Correct Answer: A

QUESTION 7

Which of the following is an advantage of a scaled-out architecture?

A. Fewer larger hosts means less hardware.

B. Larger servers come with more bells and whistles, like completely redundant hardware.
C. Smaller hosts translate to less time needed to recover using HA.

D. Larger servers are cheaper.

Correct Answer: C

QUESTION 8

Information gathered during the current state analysis include the number of sites, servers, or devices; a list of
applications and their dependencies; current usage; and known issues.

A. True
B. False

Correct Answer: A

QUESTION 9
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Which design quality is concerned with creating an architecture that is easy to maintain and operate?
A. Recoverability

B. Security

C. Availability

D. Manageability

Correct Answer: D

QUESTION 10

The size of a host can affect the business impact in the event of a VMware HA event.
A. True

B. False

Correct Answer: A

QUESTION 11

VMware Capacity Planner is an example of a(n) discovery tool.
A. active

B. passive

Correct Answer: B

QUESTION 12

Application performance test cases are most accurate if based on
A. quantitative success criteria

B. vendor best practices

Correct Answer: A

QUESTION 13
When given a project requirement for RTO to be satisfied, VMware HA can be used with admission control enabled.
A. True

B. False
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Correct Answer: A

QUESTION 14

A project vision

A. is the required endpoint of a project--the purpose for completing the process
B. can be achieved after several iterations of a project life cycle
C. both of these are correct

Correct Answer: C

QUESTION 15
A network design has a requirement to have five total networks that are physically separated from one another.

The design requires that there be no single points of failure on the network. Based on this information, how many
network adapters are needed?

A.5

B. 2, with the use of VLANs
C.1

D. 10

Correct Answer: D
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